
 
Railroad Tycoon 3 - Trainmaster 
Food Industry and Industrial Supply 

_______________________________________________________ 

Bakery (1800) - $357,000 - /$195,000 

 1 Flour + 0.5 Sugar + 0.5 Logs => 3 Food 
________________________________________________ 

Brewery (1800) - $2,000,000 - /$1,170,000 

1800 - 1939 
 1 Grain + 0.5 Lumber => 2 Alcohol 
 1 Rice  + 0.5 Lumber => 2 Alcohol 

1885 -> 
 1 Grain + 0.5 Glass => 2 Alcohol 
 1 Rice  + 0.5 Glass => 2 Alcohol 

1940 -> 
 1 Grain + 0.3 Aluminum => 2 Alcohol 
 1 Rice  + 0.3 Aluminum => 2 Alcohol 

Demands:  
2 Coal per year 

________________________________________________ 

Cannery (1800) - $1,600,000 - /$1,040,000 
*This industry is going to be changed to spread over more eras. 

Produces: 1 Waste per year 

1800 -> 
 1 Produce + 0.3 Glass => 2 Food 

1856 - 1970 
 1 Produce + 0.3 Steel => 2 Food 
 1 Meat    + 0.3 Steel => 2 Food 

1920 -> 
 1 Produce + 0.3 Aluminum => 2 Food 
 1 Meat    + 0.3 Aluminum => 2 Food 

Demands:  
0.5 Machinery per year 

________________________________________________ 

Cereal Company (1906) - $1,150,000 - /$650,000 

1906 -> 
1 Corn  + 0.3 Sugar + 0.3 Paper  =>  2 Food 
1 Grain + 0.3 Sugar + 0.3 Paper  =>  2 Food 
1 Rice  + 0.3 Sugar + 0.3 Paper  =>  2 Food 
1 Rice  + 0.3 Sugar + 0.3 Plastic => 3 Food 

Demands: 
0.5 Machinery per year 
2 Coal per year 



_______________________________________________ 

Chemical Plant (1885) - $800,000  

1885 -> 
1 Pulpwood + 1 Alcohol => 3 Chemicals 
1 Gum      + 1 Alcohol => 3 Chemicals 

1901 -> 
1 Coal => 2 Chemicals 

Demands:  
0.5 Machinery per year 

________________________________________________ 

Distillery (1800) - $1,400,000 - /$780,000 
Produces: 1 Waste 

1800 - 1969 
1 Produce + 0.5 Lumber  => 2 Alcohol 
1 Sugar   + 0.5 Lumber  => 2 Alcohol 

1800 -> 
1 Produce + 0.5 Glass  =>  2 Alcohol 
1 Sugar   + 0.5 Glass  =>  2 Alcohol 

1970 -> 
1 Produce + 0.3 Plastic => 2 Alcohol 
1 Sugar   + 0.3 Plastic => 2 Alcohol 

1920 -> 

1 Produce + 0.3 Aluminum => 2 Food 
1 Meat    + 0.3 Aluminum => 2 Food 

Demands:  
2 Coal per year 

________________________________________________ 

Fertilizer Factory (1850) - $1,150,000 - /$650,000  

1850 - 1920 
1 Waste => 1 Fertilizer 

1890 -> 
1 Pulpwood + 1 Chemicals => 3 Fertilizer 
1 Waste    + 1 Chemicals => 3 Fertilizer 

_______________________________________________ 

Flour Mill (1800) - $800,00  

1800 ->  
1 Grain + 0.2 Textiles => 2 Flour 
1 Grain + 0.2 Paper    => 2 Flour 
1 Corn  + 0.2 Textiles => 2 Flour 
1 Corn  + 0.2 Paper    => 2 Flour 
1 Rice  + 0.2 Textiles => 2 Flour 
1 Rice  + 0.2 Paper    => 2 Flour 

Demands:    
0.5 Machinery per year 



________________________________________________ 

Food Processing Plant (1800) - $1,700,000 - /$1,300,000 
* This industry is going to be changed to spread over more eras. 
Produces: 1 Waste per year 

1880 - 1919 
1 Milk + 0.5 Flour => 3 Food 
1 Meat + 0.5 Flour => 3 Food 

1920 -> 
1 Milk + 0.5 Flour + 0.2 Plastic => 3 Food 
1 Meat + 0.5 Flour + 0.2 Plastic => 3 Food 

Demands:  
1880 - 1919  0.5 Machinery 
1920   ->      1 Machinery 

________________________________________________ 

Glass Factory (1800) - $1,600,000 - /$910,000 

1800 - 1860 
1 Sand +  1 Logs  => 2 Glass 

1800 - 1920 
1 Sand + 0.5 Coal => 2 Glass 

1910 -> 
0.5 Sand + 0.3 Chemicals + 0.1 Machinery => 2 Glass 

1920 -> 
0.5 Sand + 0.4 Aluminum  + 0.1 Machinery => 2 Glass 

_______________________________________________ 

Machine Shop (1800) - $1,800,000 - /$1,040,000 

1800 - 1860 
1 Iron + 0.5 Textiles => 2 Machinery 

1856 - 1930 
1 Steel + 0.5 Textiles => 2 Machinery 
1 Steel + 0.5 Rubber   => 2 Machinery 

1886 - 1930 
1 Aluminum + 0.5 Rubber => 2 Machinery 

1910 -> 
1 Steel    + 0.5 Rubber + 0.5 Electronics => 3 Machinery 
1 Aluminum + 0.5 Rubber + 0.5 Electronics => 3 Machinery 

Demands:  
1 Coal per year 

________________________________________________ 

Meat Packing Plant (1800) - $1,600,000 - /$910,000 

1800 -> 
1 Livestock => 1 Meat + 1 Hides + 0.1 Fertilizer (Maximum 6 per year) 

Demands: 0.3 Machinery per year 
 



________________________________________________ 

Paper Mill (1800) - $800,000 - /$520,000 

Produces 1 Waste Per Year 

1800 -> 
0.7 Rice => 1 Paper 

1800 - 1919 
1 Pulpwood => 1 Paper 
1 Hemp     => 1 Paper 

1920 -> 
0.5 Pulpwood + 0.3 Chemicals => 1 Paper  
0.3 Hemp     + 0.2 Chemicals => 1 Paper 

Demands:  
0.5 Machinery per year 

________________________________________________ 

Sugar Refinery (1800) - $1,000,000 - /$650,000 

Produces: 
1800 - 1889 0.5 Waste Per Year; 1890 - > 1 Waste Per Year 

1800 - 1889 
2 Produce + 0.3 Paper => 3 Sugar 
2 Corn    + 0.3 Paper => 3 Sugar 

1890 -> 
1 Produce + 0.5 Chemicals + 0.3 Paper => 3 Sugar 
1 Corn    + 0.5 Chemicals + 0.3 Paper => 3 Sugar 

Demands:  
0.5 Machinery per year 

________________________________________________ 

Textile Mill (1800) - $1,600,000 - /$910,000 

1800 - > 
1 Cotton => 1 Textiles 
1 Hemp => 1 Textiles 
1 Wool => 1 Textiles 
1 Wool => 1 Textiles 

1850 -> 
0.5 Hemp + 0.5 Rubber => 2 Textiles 

1934 -> 
1 Plastic => 2 Textiles 

1957 -> 
0.5 Plastic  + 0.5 Cotton    => 2 Textiles 
0.5 Pulpwood + 0.3 Chemicals => 1 Paper 
0.3 Hemp     + 0.2 Chemicals => 1 Paper 

Demands:  
0.5 Machinery per year 

 



________________________________________________ 

Plastics Factory (1901) - $2,300,000 - /$1,300,000 

Produces: 1 Waste per year 

1901 -> 
1 Pulpwood + 0.5 Chemicals => 2 Plastic 
1 Hemp + 0.3 Chemicals => 2 Plastic 

1921 -> 
1 Gum + 0.5 Chemicals => 2 Plastic 
1 Oil + 0.5 Chemicals => 2 Plastic 

1938 -> 
1 Corn + 0.5 Chemicals => 2 Plastic 

Demands: 1 Machinery per year 
________________________________________________ 

Rubber Factory (1848) - $1,600,000 - /$1,300,000 

Produces: 0.5 Waste per year 

1848 - 1890 
1 Gum + 1 Logs => 2 Rubber 

1848 - 1920 
1 Gum + 0.5 Coal => 2 Rubber 

1900 -> 
1 Gum + 0.5 Chemicals + 0.5 Coal => 3 Rubber 

1921 -> 
1 Plastic + 0.5 Chemicals + 0.5 Coal => 3 Rubber 

Demands:  
1848 - 1920,  .5 Machinery per year 
1921 - > 1 Machinery per year 

_______________________________________________ 

Automobile Plant (1900) - $2,400,000 - /$1,560,000 

Produces: 1 Waste per year 

1900 - 1929 
1 Steel + 0.3 Rubber + 0.1 Glass + 0.1 Textiles + 0.1 Electronics => 2 Automobile 

1930 - 1969 
1 Steel + 0.3 Rubber + 0.2 Glass + 0.2 Plastic  + 0.2 Electronics => 3 Automobile 

1970 -> 
1 Steel + 0.3 Rubber + 0.2 Glass + 0.5 Plastic  + 0.5 Electronics => 4 Automobile 

Demands: 
   1900 - 1939   

0.5 Machinery per year 
   1940 - 1974     

1 Machinery per year 
   1975 ->          

2 Machinery per year 



______________________________________________ 

Furniture Factory (1800) - $2,000,000 - /$1,170,000 

1800 -> 
0.5 Lumber => 0.5 Furniture 
0.5 Lumber + 0.2 Textiles => 1 Furniture 

1856 -> 
0.5 Lumber + 0.2 Steel => 1 Furniture 

1930 -> 
0.5 Steel    => 1 Furniture 
0.5 Aluminum => 1 Furniture 

1952 -> 
1 Plastic => 2 Furniture 

Demands:  
1 Machinery per year 

________________________________________________ 

Pharmaceutical Plant (1905) - $1,600,000 - /$1,040,000 

Produces: 1 Waste per year. 

1905 -> 
1 Chemicals + 0.5 Glass + 0.5 Sugar   => 3 Medicine 
1 Alcohol   + 0.5 Glass + 0.5 Produce => 3 Medicine 

1970 -> 
1 Chemicals + 0.3 Plastic + 0.5 Sugar => 3 Medicine 

Demands:  
0.3 Cotton per year 
  1 Livestock per year 
0.5 Machinery per year 

________________________________________________ 

Electric Plant (1890) - $1,200,000 - /$780,000 

Produces: Electricity (Gigawatts), 1 Waste per year. 

1890 -> 

Demands:  
3 Coal, 2 Petroleum, 0.5 Glass, 0.5 Machinery 

   1890 - 1929     
0.5 Electronics   

   1930 -> 
1 Electronics 

________________________________________________ 

Bank (1800) - $2,000,000  

1800 -> 
0.7 Gold => 1 Gold 

Demands:  
 2 Paper per year 



________________________________________________ 

Casino (1930) - $2,400,000  

Produces: 1 Waste per year. 

1930 -> 
1 Alcohol => 0.5 Gold 
0.3 Gold => 0.5 Gold 
0.5 Passengers => 0.5 Gold 
0.5 Passengers => 1 Passengers 

1930 - 1949 > 
0.3 Gold => 0.5 Gold 

1950 -> 
0.5 Gold => 0.7 Gold 

________________________________________________ 

Theme Park (1930) - $1,200,000 - /$780,00 

5 Passengers per year. 

Produces: 1 Waste per year. 

Demands:  
 2 Food per year 
 2 Goods per year 
 1 Machinery per year 
________________________________________________ 

Sea World (1960) - $1,200,000 

5 Passengers per year. 

Produces: 1 Waste per year. 

Demands:  
 3 Food per year 
 3 Goods per year 
 1 Machinery per year 
________________________________________________ 

Recycling Plant (1915) - $1,700,000 - /$975,000 
1 Waste => 1 Iron 
1 Waste => 1 Bauxite 
1 Waste => 1 Pulpwood 
1 Waste => 1 Chemicals 

Demands: 
 1 Machinery per year 

_______________________________________________ 
 


